45&/ ’ i AN
A <,('/ !
© @,
600 ¢? * :
i p b
D)

8-M10x22

PT3/8(ik - b
G

)
FOR PISTON REVERSE 4-M6X28

(94259 b DS-1H-6 BoH33zL)
(DS—-1H-6 FIXED)

4-M5x20

PT3/8(KLYR-t
(DRAIN PORT)

(PROXIMITY SWICH NOT INCLUDED) 30
(JEHRS9 713, HERVERA)
HOLE ¢13 FOR PROXIMITY SWITCH ,__18 40 13 [35 . A
EE2A Y FRER b= |
i¢13; \ | _i_
S = 1T ;
o ) AxER
i ' N ARROW A
SR
® : a
© —h '
g § M24P3.0
= P22
: ) § HH = ~ c
| = 8| =
7 o 1 fy].
| |
il ,B,D PORT POSITION) i
13 /195
. ~ | 3
60 5 2 20 |5|]]s 33 X
N I | w \ﬂ
‘ s zl :
@ s
5| | s5emom)| |15 o I
y ! ~ o~
31.5 10 46.5 p— 6-M12x100 & €
\ =
| e e S s
 —
20
PT3/8(EMA- b
(22 b HigM)
FOR PISTON FORWARD 325 545 1l 18 74 5 r
(MIN.75)
180 75 (MAX. 110)
F
SPECIFICATIONS HE UV I- HE
Maximum Speed |ERBEOHEE min~' 4200
Maximum Pressure [ERB&FEN MPa_(kaf/em?)[ 3.92 (40)
er Diameter SUVI-§ mm 8150
iston i’(rokeP - ;ZI\;ZN;-g mm '5;)31
iston Area (Pusl 4] % L) cm 3
iston Area (Pull) |EF@E# (51¥) cm? 65.4
!!n%ﬁzl q 2 7.5
; . : o
M1 40y - VOERBEEH 0.029 MPa (0.3 Kgf/em?) Ole®. KL - VORBE SEELE T, ggl’::é‘ew of Inertia %&g N m(Kaf-m”) éf’g (0.56)
Maximum pressure of the internal oil seals are 0.029 MPa (0.3 Kgf/cm?). Total Leakage BU- 78 O/mn | 2
Please exhaust the drain oil so as not to exceed it. Oil pressure_3.92MPo, ol temperature 50C) (3.92MPa. M#50C)
T 1 Ax h &8 * * * |
[Ax BEF B B 2 H H & |—BARE L
FOR PISTON No. PART NAME MATERIAL QTY/SET REMARKS
FORWARD L Ax %% osuw [ BH mrE | [ 2% vonwe |
FOR PISTON ﬁi* * [ RNKP 150—35—01
I ~y |[eexes] z=8 2¥88 73| 8% 3 RE[BEE[ RAE [sglop(es| 9% mecws]
exbveal A B ee [Fie Namd 2800732 @% 111 2800732 A




